S REY.
i | NUDZEE %
1 EA HEIEZ [ LGl Rl bl
i %Qi %ﬁﬁfé% é@iaz %W%ME A2 ik
2 i S b 25
3 gﬁi ZRIEE S EE 20 2
‘ P B §%ﬁ§% R £ 2
= =
6 B zmmﬁ?ix i 5 0
g T EET Eo | bk 50 =
: 2 RN ER | 50 =
% RER Eé%ﬁéi* %i% 25 g
i I 7T
I« %g% LTS R 28 2
= T ?Bxﬁé% EN=ES 50 =
L = fﬁxﬁéé—% B 50 =
13 7 SR E Tt 50 2
L A RN RS 7KK 50 2
15 T PESIEES T 50 2
16 AL TN ES WHD 50 2
7 TE gimﬁéé T 50 =
19 e %giﬁéf - 20 0
20 T 5 s
2 T %méﬁi@z Pt 50 =
Z bkt %ﬁmgii i 25 s
m T P = BT 50
=~ 2o jE%J MN TS ZERE 50 2
= iy %fﬁé% BE A% 50 2
2 L EEONER | oA 50 5
27 REH Qx%ﬁéé s 50 =
= e ,ILL\I Q*ﬁé% R 50 =
29 £2> ?%%ﬁé% EH 50 2
31 HIEE §$5f§% o > 0
3 1 5 e W,
32 S iﬁﬂ?éz e 25 -
o e ﬁﬂ MRS Eiria 50 =
- gz;u& x;rblm OMNZEZ e 50 >
% R et o 0
E - RN E S | R 2
i iﬁ% BRKNEL | A 28 2
7 e RN E R 50 =
8 272 ﬁgﬁéé 775 50 2
S AN X
20 T 7] wﬁgii e 5 s
Hr | GaONEs = o 9
22 T T 25 0
= EE% O T2 B2 5 >
44 BLE O ES | i 58 2
46 T i ﬂﬁéﬁé%x e 25 0
4 L E¥:i§z T i tE 50 2
7 ALy :}ﬁﬁ@%§ e 50 =
— N A =
29 T 25 0
50 T T 5 s
51 AR ARl Dﬁé 7 v 25 0
7 Zo | B 50 g




52 ke RN S Tk2E 50 50
53 P4 AN TS G4 50 50
54 T ML A 252 T 50 50
55 Teidk X SN Tt X 50 50
56 TREESS B Z 2 TS 50 50
57 5 fERAZ S ThEi 50 50
58 B ENES B 50 50
59 E i SRR T2 REY 50 50
60 P IR A 2o I EH 100 100
61 WEE BT T2 L 100 100
62 AR EERHA 22 T7514¢ 100 100
63 Fi g Rl = 100 100
64 EAZE [EI N 75 100 100




